Reasoning Question Bank

1. 2,3,5,7,...2
(A) 8 B) 9

(C) 10 (D) 1

2. 31,37,41,43, ....7
(A) 45 (B) 47

(C) 49 (D) 51

3. 1,4,9,16,...7
(A) 25 (B) 27

(C) 29 (D) 21

4. 2,6,12,20,..7
(A) 35 (B) 37
(C) 39 (D) 30
5. 1,2,5, 16, 65, ....7
(A) 326 (B) 325

(C) 276 (D) 166

6. 1,2,6,21,88,...7
(A) 445 (B) 325

(C) 276 (D) 465

7. 840,168, 42, 14,7, ...?
(A) 1 (B) 5
(C) 7 (D) o



8. 15,7.5,7.5,15, 60, ....?
(A) 460 (B) 375
(C) 480 (D) 666

9. 1,4,2,8,6,24,22 88, .7
(A) 66 (B) 85
(C) 76 (D) 86

10.8,9,8,7,10,9, 6, 11, 10, .?.., 12
(A) 6 (B) 5
(€ 7 (D) 4

11. If RAHUL =SBIVM
Then KUMAR=?

(A) LVMBS (B) LVNCS
(C) LVNBS (D) LVNCS

12. If SURESH = VXUHVK
Then KUMAR =?

(A) NXPDU  (B) NXODU
(C) NXPOU (D) MXPDU

13. If RAMAYAN =9141715
Then AYODHYA =?

(A) 1764861 (B) 1764881
(C) 1764871 (D) None of these

14. If DECEMBER = 54645749
Then SEPTEMBER =?

(A) 842745549 (B) 842745649
(C) 842745749 (D) 842745849

15. If NOVEMBER =4
Then OCTOBER =?

(A) 4 (B) 5

(C) 6 (D) 7



16. If FOX =2160
Then ALPHA =?

(A) 1536 (B) 1636
(C) 1666 (D) 1532
17. If WORLDHEALTH = 10

Then ORGANIZATION =?

(A) 9 (B) 10
() 1 (D) 12
18. If DELHI = 421283

Then GOA =?
(A) 716 (B) 741
(C) 714 (D) 761

19. If 'blue’ means 'green’, 'green' means 'white’, 'white' means 'yellow’, 'yellow' means 'black’, 'black' means 'red’
and 'red' means 'brown' then What is the color of milk ?

gfe ar &1 3 831, 1 &1 3 A, e &1 3y dar, Wer &1 3 wrar, Hwrar o1 3 Arar
TYUT AT BT S IRT AT GUBTIT TR ?

(A) Yellowdtar (B) Brown/YRT
(C) Redraret (D) Black/eTell

20. If 'eraser’ is called 'box’, 'box' is called 'pencil’, 'pencil' is called 'sharpener’, 'sharpener' is called 'bag’, from whom
will the child write ?

gfe Xgg B qiaw, died Bt URyer, URier S =Ry, AR ST $§d 7, 91 = fea | feram 2
(A) Bag/&T  (B) Sharpener/RIMU=IX
(C) Boxaiad (D) Pencil/dftra

21. Teheran : Iran :: Beijing : ?

am : gTFT : ST : 2
(A) Turkey/g®f (B) Hong Kong/@ITHiT
(C) Japan/Sa™E (D) China/At=

22. Train : Passenger :: Aeroplane : ?

EGRRIEI R 's'aT's‘\‘errrGr :?
(A)  Astronaut/ERTIerT
(B) Air hostess/faur afaiveT



(C) Aeronaut/ddTf1®H

(D) Pilot/UrIee
23. CEBD : GIFH :: OQNP : ?

(A) SURT (B) USRT

(C) SRUT (D) RUST
24. CHAIR : RIAHC :: TABLE : ?

(A) EALBT (B) ELABT

(C) ELTAB (D) ELBAT
25.17:24::153:?

(A) 215 (B) 216

(C) 217 (D) 219
26.91:?::64:54

(A) 70 (B) 80

(C) 9% (D) 100

In each of the following questions, four words/letters/number have been given, out of which three are alike in some manner and the
fourth one is different. Choose out the odd one.

fFrafafad vl vy ¥, IR Xreay/3ieR/A@ Ry e §, R A fiF et ave ¥ T € ok o1 Ue s 8 | fvw s g

27.

(A) zebra/SERT  (B) Lion/ R
(C) Tiger/dar (D)  Horse/ °¥ST

28.

(A) Cement/¥¥e (B) Paste/ TRE

(C) oil 3itaa (D)  Glue/ g
29.

(A) 6789 (B) 4422

(C) 6284 (D) 8363

30.



(A) 639 (B) 246

(C) 516 (D) 739

31.
(A) DHLP  (B) TXBF
(C) INRV (D) YBEH

32.

YDWB (B) TKRI
QNOM (D)  HLFJ

33. 10 students distributed one pencil each to each other, tell me how many pencils will be distributed?

10 fameff uop gk &) uw U UiRa e, ot aarsit $a fea- tRa & ardt smet 2
(A) 45 (B) 90
(C) 09 (D)  None of these

34. There are 15 students in a class, if they all join hands with each other, but no hands were received from Vidit, then tell how
many times the hands will be shaken ?

T FarT & 15 femdf @ oA at wa ve g @ g1y ey, Rrar fafda ¥ fafea feeht & o gror Y frem v gang
P frat IR g1y frems Smg 2

(A) 210 (B) 105
(C) 182 (D) 9t

35. The weight of 4 boxes is 100, 70, 50, and 90 kg. Which of the following cannot be a total weight, kilogram from any
combination of the following boxes, and a box can be used only once in a combination?

4 IR BT I 100, 70, 50, AUT 90 fhaumH 8 | Frafefeaa & & ol & fandt it vae @ oo oo, fPam o d
PI-IT T8 81 P dT 3R JUo A TP 9991 TP g1 9= TaHT § AT ST qpar g ?

(A) 310 (B) 210
(C) 230 (D) 210

36. A bus in which the number of women is half the number of men leaves. In Meerut, 10 men get down. And 5 women get in.
Now the number of women and men is equal. So initially how many passengers boarded the bus?

e 99 Forgd afgarsi &) Ien geul @) Wen i anh 8, # A FAead 81 e #, 10 g IR g1 3R s
afgane 9¢ ST 31 39 afgarsi 3k goul it ven g g | @ Ry # fhan art s A aar gu d?

(A) 36 (B) 45
(C) 15 (D) 30

37. A bus leaves with certain passengers. Half the passengers get off at the first stop. And 35 passengers climb further. 1/5
passengers get off at the second stop. And 40 climbs then she arrives at her destination with 80 passengers non-stop. So how
many passengers boarded the bus initially?



38.

39.

40.

41.

42.

43,

TP 99 O Af¥a arh o= fAeadt 8 | tgd wiu IR e arh Iav 91 71 3R 35 aEf SR 9g Sd 8 1 g U R
1/5 T IR 14 & | 3N 40 I T4 & 99 98 31U Tefed UR 80 AT & 1Y a1 Fgl $& Ugwrdt 8 1 o RU H feq
YT 9 W HAR §U A2

(A) 25 (B) 30

(C) 40 (D) 50

If 75 $ 26=4; 69 $ 53= 7; then what is the value of 82 $ 46 =?
TfE 75 ¢ 26= 4; 69 $ 53= 78, Y 82 $ 46 BT HIF JTd BN ?

(A) 62 (B) 56

(C) o0 (D) o

f9@7=4, 6@ 1=10;7 @ 4 = 6; then what is the valueof 8 @ 2 =?
UEo@7-46@1-10,7@4=6,3 A 8@ 2 PTAF I DY ?

(A) 1 (B) 3

(C) 2 (D) 12

If 12 (20) 16 and 21 (35) 28; then what is the value of Ain 48 (80) A ?
TS 12 (20) 16 TUT 21 (35) 28; & 1 48 (80) A & A BT HIF JTd BN ?

(A) 50 (B) 56

(C) o4 (D) 72

My friend starts walking towards east, after walking 10 meters, turns towards left and walks 5 meters. Again turns
towards left and walks 10 meters. Then how far is it from the starting point ?

TR PR g4 1 3R I URH HRT 8, 10 Hiex I & o1 H a1s 3R TS § 3R 5 Hiex Iadl g | T: 978 3R
S $ 10 HeR Ialal 8| a9 98 URMYS g AfpaTRE T 2

(A) 2m (B) 3m
(C) 4m (D) 5m

Ram goes 4 km towards East from his car, then turns left and goes 6 km. Again he turns left and goes 4 km. How far
is Ram from his starting place?

T 3T R A gd B 3R 4 fpeiiefiex SIar 8, bR a1 gear @ 3R 6 fbaiiiex ST 8 1 §: 9 o1 gedT 37k 4
foraiiies ST 81 I 310 SRfie W I fhai g R e »

(A) 4 km/fBH.  (B) 6 km/fHI
(C) 10 km/fBHY. (D) 14 km/fHI.

Two women A and B are shopping from a mall. She starts from the same point A walks west for 150 meters, then
turns to her left and walks 160 meters. B walks 140 meters towards east, then turns to south and walks 160 meters,
then turns to his left. Where is B now from A's position ?



44.

45,

46.

47.

48.

49.

3 AfEATS A 3R B U HId O WRIGR] SR 361 ¢ | 98 U o [g U (ST Hall & A U Bt 3R 150 Hex a
et 8, fOhR 310a ST 3R S Sl § 3R 160 Hiex b Iadil g1 B Jd & 3R 140 Hier db Taic! g, fhr R 6t
3R 43 SITeht § 3R 160 Hiex d& Fak! 8, fhR So- a1E R IS Sl g1 A D! UG /@8 i g 2

(A) 170 km, North/3TR  (B) 410 km, South/ &0l
(C) 410 km, West/GI&/H (D) 410 km, East/ 4

M is the son of P. Qis the granddaughter of O who is the husband of P. How is M related to O ?

M, PHIGAGI Q OBIUN g, ST PHT UM G| M BT 0 J A Farsil ?

(A) Son/ YA (B) Grandson/cﬁ?ﬂ
(C) Uncle/aT™T (D) Father/fOdT

Rajiv is the brother of Rahul. Sonia is the sister of Sunil. Rahul is the son of Sonia. How is Rajiv related to Sunil ?

3[oid, G BT UTS & | FfaT, a1 989 8 | A WA 1 G 8 | Ioid Gl I 3 Gafa g ?

(A) Father/fOdT (B) Son/9x
(C) Brother/HT8 (D) Nephew/HTSTl

Suresh's sister is the wife of Ram. Rama is Rani's brother. Ram's father is Madhur. Sheetal is Ram's grandmother.
Reema is the daughter-in-law of Sheetal. Rohit is the son of Rani's brother. What is Rohit's relation with Suresh ?

PR P I IH D1 Tedl ¢ | XH, I BT HTS 8 | A F [T AR § | Maa I\ &t a1l g | 1 2fida &1 Hae B |
AR IR P U BT B | AR BT TR Tl st »

(A) Brother-in-IaW/Trﬂ\_rlT (B) Nephew/'l-IT‘ﬁ\_ﬂT
() Son/a?[ (D) Brother/'l-ng

If '+' means 'x', 'x' means '+', '+' means '-' and '-' means '+', then find the value of 16 x 3 +5 -2 + 4,

e o BT 3Rl x, ' BT '+, + BT - SR BT+ ], AT 16 x 3+ 5 - 2 + 4 BT HF T BT ?

(A)8 (B)9
()10 (D) 19
If '+' means '+', '+' means '-', '-' means 'x' and 'x' means '+', then find the value of 12 +6+3 -2 x 8.

i v BT e e BT BT 'k IR X BT '+ B AN 12+ 6 =3 -2 x 8 BT HH JTd BITOT ?

(A)2 (B) -2
(C) 4 (D) -4

In a row of students, Ram's position is 23rd from the left end. And Sita's position is 22nd from the right end and 28th

from the left end. Then how many students of Ram's right ?

faenffat ) ue ufda & I @) fRufa arff oiR 9 2341 B, aur drar ot fRufa 218 3R A 22df g St sik @ 28 g,
I % T4 3R P o faemifg 2



(A) 24 (B) 25
(C) 26 (D) 27

50. In a class of 60 students, Sehwag is 25th from the top and Virat is 22nd from the bottom, then tell how many boys
are there between Sehwag and Virat ?

60 faefial 1 T BT H, TN SR A 253 7 forre T T 22 IHA W g, 4l areh Igan g faxie & o= frd
qASH G ?

(A) 14 (B) 15
(C) 12 (D) 13



